N\

lunedi 10 dicembre 2018 11:58

folpre XQJ’O’ )
LV

XrRe

T;_*-‘ Xﬁ’Xz:X-/}J‘

0=2:X1, < conuso d;/x - n=2
T-6 o —
Nee(l)= IS (1) + \/AECﬁ’ ug(?%: bcgsz e
X, =qgFite
- E()=LlEm- gy 1) =Ly + 0
=£[P —-M:O#P :-%DA+)J}__
T pI=OoRYO
D)=p-0p < T, coremo
VAQ‘/Tb Q‘/ éxﬁ—c_%xz - VAE@).N@@[E Xﬁ% 2=
~ LM = Ao’ dogl L ¢
=§o’z+—é-~g:2: —%‘ * <
%%, ef)= S+ \i(@: e, z}ab?@jﬂ— UCZ@:
prE- S - 0+
T & qu dpeonie
"Rt
\1@—): ’O—é" @@MX



lunedi 10 dicembre 2018 12:18

=
N A K
noe )= bzf\'bJr\)CC‘;): Ne.e,)- DZCF.&>+ \J(@,
= Ot 5~ =0 +F-=
_o” o
O w§ 2
T, 0 auge & T,

X \"@i‘,,_ 2+ 13 &— I= 2 X+42 ?E(j'):};,a it
k > o Te
\(\{/, iz)_l X4=...,’~~}><4_2=~. }X\q:X nENA can? o ey )JR

SZOREO
i

PK: 5®= E(«{é +2X3= 13+2-EX m
g(rj:éf@:wr 2)@:434- 25[)@: 15+ 2| }xrcomo

Qs RN
Rt
S

Nuova sezione 1 Pagina 2



<§ OC?O
A 265
— FNOMC?

rEsEiB PELOTI COFOLEA (D= "3 5
4_/\>= 1- 089=0/51

( Ar A
V- 2&@ \©< F—k%\ﬂ&):ﬁl—o@qgo
:4~QJD
X =005
0.06500 =i
_.g% ) _‘.g& 2 42, N

2 994?‘59

F(\—@):?(go}%: %{z}dzz :L—0,0S=Q95 S

¢ : 09205

16c+165 4 ¢ v

&y = =15 2= 165

— 2y = —46¢5
\@849@/51)
’?(Qé%‘f” 165 \\(0849}@5/7 <67<08¢C]—H6g6] 2z l@?@

Y{ope<p< O,é%&zgz O

.‘.<Qg<.‘.S=q95=4—u:w4-—905 @&:QO@%

-05 MM= 0o

Nuova sezione 1 Pagina 3

= )

AN



A . o) _
el P S[2a\FE=0e
_ NS _00zS
06 =225 4L Py vis
% | Tt
~9-h9s). /9629@ 2 z.
|
=1063.=41 ‘e =t4%
X — 2ae XA,..,,);%: Y -
el N -z
6 % ) T</§2 3 o
P p=&
7 E1)-6  aXFpP,
E)=p
'3Xz+2)§3 \—3XABX 5
= —\;:‘i = Eé Z =)\)

T 9 41'\\—2“_\_91»7_,('13111

Nuova sezione 1 Pagina 4



__{Tx 8 —\~2 «O%ﬁék

O +3/JL , MsTO

MW;GE X CC“%’)C»YI;Q- @

<V UC/\/F{ -——<r<~;oi+0}
?{ ?{ <}J <y é}—

XerweN = Xawe N _ 1-0t= OO
X Ln-—wmo n73<;>\lc (\)\Jc/\[ A= O/{O

v \[(KSO / N—4=\°

Xove Ny Xae




